

WESTERN DISTRICT CRICKET CLUB

ELEVENTH ANNUAL REPORT

SEASON 1979-80



WESTERN DISTRICT CRICKET CLUB

ANNUAL GENERAL MEETING

Notice is hereby given that the 12th Annual General Meeting of the above club will be held at the Western District Rugby Union Club, Macquarie, at 7.30 p.m. on Monday, 28 July 1980.

BUSINESS

- 1. Reading and confirmation of minutes of the last Annual General Meeting.
- 2. Consideration of Annual Report and Honorary Treasurer's Statement.
- 3. Election of Office Bearers and Officers.
- 4. Fixing of annual subscriptions and fees.
- 5. Other business.

Peter D. Murray
Hon Secretary

12 Emerton Street EVATT ACT 2614

July 1980

.

WESTERN DISTRICT CRICKET CLUB

ANNUAL REPORT

1979-80

TABLE OF CONTENTS

	Page
Office Bearers and Officers	2
From the President	3
Management Committee Report	7
Junior Committee Report	11
Hon Treasurer's Report	13
First Grade Report and Averages	17
Second Grade Report and Averages	21
Third Grade Report and Averages	25
Fourth Grade Report and Averages	29
Club Career Performances 1969/70 - 1979/80	32
Club Batting and Other Records	37
Club Membership 1979/80	39
History of Club and Past Office Posters	40

OFFICE BEARERS AND OFFICERS 1979-80

PATRON : Mr Ken Fry, MP

PRESIDENT : G.W. Gelding

SENIOR VICE PRESIDENT : R.J. Rogers

SENIOR VICE PRESIDENT (JUNIORS) : G.P. Walsh

VICE PRESIDENTS : A.J. Casey, D.G. Coley, B.G. Dockrill,

F.W. Eade, H.P. Harris, B.D. Lindemeyer,

P.F. Rudge, A. Sadler, S.E. Smith,

S.V. Smith

HONORARY SECRETARY : P.D. Murray

HONORARY TREASURER : G.P. Garrity

HONORARY ASSISTANT SECRETARY : A.E. Grigg

HONORARY ASSISTANT TREASURER : A.R. MacDonald

MANAGEMENT COMMITTEE : P. Bradley, G. Bush, A.T. Irvine,

I. Macleod, S. Marshall, A. O'Connor

JUNIORS COMMITTEE : Ms J. Coley, N. Creem, J. Graham,

T. Hudson, G.P. Walsh

CHAIRMAN OF SELECTORS : R.J. Rogers

PROVISIONAL SELECTION COMMITTEE : B.G. Andrews, A.R. MacDonald, R.J. Rogers

SELECTION COMMITTEES

First Grade : A.T. Irvine, G.P. Garrity, R.J. Rogers

Second Grade : G.P. Garrity, S.E. Smith, R.J. Rogers

Third Grade : B.S. Peacock, R.J. Rogers, S.E. Smith

Fourth Grade : P.D. Murray, B.S. Peacock, R.J. Rogers

KIT COMMITTEE : G. Beacroft, A.E. Grigg, T. Hudson,

R.J. Rogers

SOCIAL COMMITTEE : G. Beacroft, G. Bush, G.W. Gelding,

A.R. MacDonald

ACTCA DELEGATES : G.W. Gelding, A. Grigg, P.D. Murray,

R.J. Rogers

HONORARY AUDITOR : M.H. Marshall

FROM THE PRESIDENT

Gentlemen,

I am pleased and privileged to be able to preface this Eleventh Annual Report of the Club with my fifth Presidential oration, embracing the 1979/80 season - one of mixed success on and off the field for the Westies and, in many respects, a season which could shape the destiny of A.C.T. cricket for years to come.

As a rare gesture of respect for the office of President and his lack of ability as a typist, much of what I intended to discuss in my report has been covered in the Management Committee report further forward. I commend for your serious consideration the issues raised in that report. A.C.T. cricket is now in a delicate state of development and a concerted effort, particularly at District Club level, is required if A.C.T. cricket is to move forward in the 80s.

As I look back over 1979/80, I reflect on the disappointments for Wests in not perhaps achieving the glories on the field of previous years, and at the same time retain that sense of pride in knowing that the Westies continue to make a positive contribution to the many facets of A.C.T. cricket. It was a noteworthy season in many ways for the Club. Having lost several key players at the start of the season, and gained valuable new blood, it was a season for melding youth and experience, the results of which I am sure will be reflected in the seasons ahead. It is also pleasing to note the contributions made by former Westies to the development of cricket in Canberra through other District Clubs. It is gratifying to know that, despite a change of Clubs, most of our former members are still Westies "deep down" and retain that sense of fellowship and camaraderie with the "old Club". We would not have it otherwise.

I would like to thank those Westies who contributed to the running of the Club over the season. Unfortunately, while the playing responsibilities in a Club are generally spread evenly, the administrative burdens are generally shared by too few. This should not be so. The success of a Club is not measured simply by the "bank balance" principle, but by the contributions made by Club members generally. If the allocation of responsibilities is shared widely within a Club, the lighter is the load on each Club member. I sincerely thank the significant efforts of Peter

Murray, Russell Rogers, Gerald Garrity, Graham Bush, Sid Smith and Barry Peacock in their respective areas of endeavour over the season. There were also other notable contributions from several Westies for which I extend my thanks. I hope we will see a greater all-round effort next season to ensure we continue to remain a force to be reckoned with in Canberra cricket.

Once again I extend our grateful appreciation to the Board of Directors and Management of Wests Club Inc for their generous financial and material support to the Western District Cricket Club. The Club Inc has now accepted 14 affiliated Wests sporting Clubs, in line with its policy to ensure that Wests remain the top sporting and social community Club in the A.C.T. I have been proud to have been on the Board of Club Inc over the last two years and, with your support, hope to continue making a contribution to the affairs of Club Inc.

The Club was delighted to again win the South British Insurance Trophy for the junior cricket club championship. With 19 junior teams contesting competition in the under 10's to 16's, the Club was well served by promising youth and dedicated management. I thank Gerry Walsh and his team of junior officials for their untiring efforts in guiding the Club through to its championship success. We must not lose sight of the importance of a strong junior club and it is heartening to note the emerging contributions being made in the senior grades by our younger brigade. It is probably true to say that Wests is represented in the senior competition by more younger members than most other district Clubs. This is a healthy sign and must not be allowed to diminish where talent is involved.

We finally notched up a win in the East Canberra Twilight competition and I congratulate Tony Irvine and his side for a great win. I also commend the Weston Creek side for a brave showing in their initial first grade season. I am sure Wayne Boardman's experience in this competition was of considerable benefit to the team and the improved showing this season will hold us in good stead for next season's competition.

You will read in the Management Committee report about its views on the new ten team competition introduced this season. Whatever your views are on the desirability of ten verses eight team competition, I could not help but detect certain disquieting developments in Canberra cricket over the season, which I believe largely reflect our inability to service a

strong ten team competition in four grades. While I fully appreciate the claims put forward by the two new Clubs, Ginninderra and Weston Creek, I am not convinced these claims were all realised for the betterment of A.C.T. cricket. The season witnessed many difficulties with:

- . sub-standard pitches,
- . shortages of qualified umpires,
- an upsurge in inter-club bitterness, due to lack of a mature and cooperative spirit between certain Clubs,
- . the continuing absence of thoughtful debate by Club delegates at ACTCA meetings,
- the shortage of high standard grounds and pitches.

It is to be hoped that these difficulties will be overcome next season, although the prospects are not bright, particularly on the question of grounds. Next season the A.C.T. will be playing two international games against India and New Zealand. It is vital that the local competition be strong in all respects, otherwise we can never hope to succeed in our own right as a cricketing force. For the last few seasons, Wests have prepared pitches at O'Connor and Aranda. This has saved the Club considerable financial outlay and helped, where conditions permitted, to provide the best possible pitches for many of our matches. We must work to maintain this effort in the interests of better cricket and a stronger Club. I believe our new synthetic practice pitches contributed measurably to better practice conditions, although the dedication to practice by many club members reflected a lack of a disciplined approach to practice - this may have been reflected in our results on the field.

Next season it is to be hoped we can appoint an official Club coach, to coordinate all the Club's coaching activities in the junior and senior ranks. While the Club has been fortunate to have an abundance of coaching talent over the years, this talent needs to be brought together as a focus on the development of Wests' cricketing talent. While our Club policy has been not to make financial payments to Club members to play cricket, this policy may need to be relaxed in regard to coaching. I would ask that you consider this aspect of our affairs with the care it deserves.

Last year I voiced my concern over the increasing costs of playing cricket and my concern has not abated. Wests recently submitted a proposal to the ACTCA in an attempt to seek to overcome the lack of forward budgetary

planning and ad hoc expenditure patterns by the ACTCA. I also submitted a proposal to the Executive Committee designed to give greater emphasis to the promotion and financing of cricket by the ACTCA - and relieving some of the pressure on the financial demands placed on the district clubs. Let us hope we make some progress on this rather neglected side of A.C.T. cricket.

Finally, I would make a plea to all members and intending members in regard to the Annual General Meeting and the election of office bearers and officers. It is essential that all positions be filled at the AGM and I am sure I can count on YOUR support for next season - remember, a little work for everyone is much better than too much work for too few. Let us combine together to strengthen the fibre of the Club through greater general interest and support. The resultant success makes it all worthwhile.

I look forward to seeing you at the Annual General Meeting and wish everyone the best of successes in 1980/81. Let's make it the "Year of the Lion"!

Good cricketing,

Geoffrey W. Gelding President

REPORT OF THE MANAGEMENT COMMITTEE

Gentlemen,

The Club enjoyed a successful season although not quite reaching the heights of the previous season. The winning of the East Canberra Twilight Competition was undoubtedly the highlight on the playing field. The first and second grade teams qualified for the semi-finals; the seconds winning the minor premiership for the second year in a row. The Club finished third in the Club Championship. Off the field, the Club enjoyed one of its best seasons with a number of social functions and barbecues culminating in the annual Presentation Night.

After much discussion and debate, the A.C.T. Cricket Association decided to revoke its decision on the admission of new clubs before 1985/86 and to provisionally admit Ginninderra and Weston Creek Clubs to all four grade competitions. This meant an increase to ten teams in all grades and resulted in problems in playing strengths, shortages of umpires and most noticeably, lack of suitable turf wickets for grade cricket.

The Club decided to oppose the concept of a ten team competition as such. It could see no substantial evidence offered to indicate that the A.C.T. could sustain ten first grade teams or ten teams in all grades of cricket. It drew attention to the study undertaken by the A.C.T.C.A. Independent Arbiter which recommended eight clubs based on district boundaries (abolished for season 1978/79).

At the start of the season the A.C.T. Cricket Association organised Rothmans Coaching Courses and an Umpires Course. Despite canvassing within the junior and senior club very few members made the effort to attend and pass the relevant examinations. The Association must be supported in its endeavours to promote cricket and there is a need for much greater involvement by members in these ventures.

The conduct of the competitions again saw only 13 matches originally scheduled (a further match was later added) which precluded two full rounds. Further consideration needs to be given to play on the Australia Day weekend (originally omitted and later added) and the Canberra Day holiday. The A.C.T.C.A. and the Grade Committee saw fit, during the season, to take a strong stand on misconduct by players on the field. A number of suspensions were imposed and a strong circular issued in March stated that

players found guilty of abusing umpires would be automatically suspended for two matches. The Club supports this stand and urges all members to take note of the circular in 1980/81.

During the course of the season, certain irregularities in the Competition Rules were brought to notice. The Grade Committee decided under Rule 9(b) not to grant permission for a player to register with another club as it was unable to determine what were "exceptional circumstances". The Grade Committee also decided under Rule 10(a) to grant permission for players joining clubs late in the season to be eligible for semi-finals. With the major revision of the Laws of Cricket for 1980/81 and the need to revise the Rules, the A.C.T.C.A. has formed a committee to report and recommend changes.

In April the A.C.T.C.A. adopted a new Constitution and By-Laws which are intended to update and improve the method of operation of the Association. Some changes of interest include a reduction in the number of delegates and voting members of the Association, the creation of a Chairman of the Executive and a restructured Cricket Committee with wider powers of control of the competitions.

The Club was fortunate to be represented on the A.C.T.C.A. Executive Committee (Geoff Gelding) and the Grade Committee (Peter Murray). While these persons act in their own right, the contribution to cricket administration is notable and reflects on the Club. All members of the Club should consider their availability each season not only for positions on the Club administration, but also that of the Association.

As mentioned in the Tenth Annual Report, the Department of the Capital Territory at the start of the season, erected two new practice wickets, improved netting and one synthetic wicket surface at Aranda Oval. With the generous financial assistance of the Western District Rugby Union Club Inc., the Club laid a second synthetic wicket surface. Consideration needs to be given to whether a third wicket should be constructed.

The Cricket Club was extremely grateful to the Western District Rugby Union Club Inc, its Board, staff and members who assisted this Club financially, provided facilities for functions and supported the first grade team at major matches. The Club needs to consider in plans for 1980/81 how to utilise and support the sponsorship arrangements of the

Club Inc. and to strengthen the relationships made to date.

As has been the case in recent annual reports, the preparation of centre wickets again caused problems. There were never enough workers to put the time needed into adequate preparation. With the decline in the standards of turf wickets and their future availability, the Club must meet its obligations in the preparation of wickets.

At the start of the season, Belconnen Toyland Women's Cricket Club approached the Club seeking a form of affiliation. The Women's Club were mainly seeking coaching assistance, and when possible help was provided by Andy MacDonald. In view of the increased affiliations with the Western District Rugby Union Club Inc, there may be a place for the Women's Club to come under the Wests banner in their own right. Consideration should be given to a strengthening of the relations between the two cricket clubs.

Some of the major fund raising activities undertaken were meat raffles, drink stalls and a silver circle. There was a lack of assistance for the conduct of the weekly meat raffles and although a regular fund raiser, unless more members assist, the conduct of the raffles may have to be relinquished. Drink stalls at the major representative cricket matches in January raised about \$700 and proved very successful. However, the manpower was provided by very few members. The silver circle conducted late in the season resulted in substantial funds for the Club, although the canvassing of tickets was undertaken by few members.

The Committee congratulates the following members who received Club awards for 1979/80 (qualification for averages - half the matches; 200 runs or 20 wickets).

First Grade : Russell Rogers (Batting)
Andy MacDonald (Bowling)

Second Grade : Geoff Gelding (Batting)
Gerry Garrity (Bowling)

Third Grade : Sid Smith (Batting)
Mick Hromow (Bowling)

Fourth Grade : Barry Peacock (Batting)
Barry Peacock (Bowling)

Club Sticker Award (Peter Rudge Trophy) Peter Murray

Most Improved Player (C.B.C. Bank Trophy)

Steve Bryant

Club Champion Award (Ken Fry Trophy)

Barry Peacock

Most Runs for Club

Tony Irvine

Most Wickets for Club

Gerry Garrity

Congratulations to the following members who achieved representative honours during the season:

> A.C.T. Senior Teams (including composite sides)

: Tony Irvine, Russell Rogers, Andy MacDonald, Terry Khan.

A.C.T. Colts Team

Greg Beacroft

A.C.T. Schoolboys Team :

David Garrity

The Committee expresses its appreciation to the following people and organisations for their efforts and assistance in the course of the cricket season:

The President, Secretary and Office Bearers of the A.C.T. Cricket Association

: for their promotion, management and organisation of cricket at all levels.

Western District Rugby Union Club Inc. including its Office Bearers and members

: for their financial support, for attendance at matches and functions, for meeting facilities and for after-match convivials.

East Canberra Cricket Club

: for their organisation, promotion and prizemoney in the Twilight Competition.

Messrs Bush, Rogers, Gelding Boardman

: for regular organisation of Friday Night Meat Raffles.

Messrs Gelding, Smith, Peacock : for wicket preparation. Marshall, Rogers

The Canberra Times and Keith Hill

: for coverage of results.

Umpires

: for a job well done.

Junior Coaches and Managers

: for service to junior members.

Wests' Ladies

: for afternoon teas and support during the season.

> Peter Murray Hon Secretary for the Management Committee

JUNIOR COMMITTEE REPORT

The Juniors crowned a most successful cricket season by winning five premierships and the coveted club championship trophy for the second time in four seasons.

Wests, second largest junior club in the competition, again fielded nineteen teams in all age groups from Under 10 to Under 16 and was one of the few clubs able and willing to field a first division side in each age group. Of the nineteen teams, sixteen made the semi-finals, nine the finals and five from the Under 10, 11 and 12 age groups won their premierships this was two more premierships than our nearest rivals, St Edmunds, Queanbeyan and Ginninderra. Unfortunately and unlike last year, we failed to win a first division trophy but we went close: the Under 10 (I) team were very unlucky to be narrowly beaten in the final after winning seventeen out of eighteen matches in the rounds. While the wins were pleasing they are by no means the only criterion for measuring the success of a season. Of paramount importance is the enjoyment and development of cricket skills and confidence and it gives me great pleasure to report that all teams enjoyed the challenges, functioned happily and that many boys showed great improvement. Congratulations to all the boys who played the game wholeheartedly to win but nevertheless played it as a sport which is cricket in the fullest meaning of the term.

The major initiative adopted by the Club during the season was the cricket nursery for boys under 8 conducted by Gerald Garrity. Gerry devised a special and enjoyable programme covering the basic skills and from the appreciation expressed by some of the parents of the twelve boys who took part, the nursery was a great success and will be continued.

The Club, blessed with a fine complement of enthusiastic and hardworking coaches and managers, functioned harmoniously at all times. Thank you all. Thanks and congratulations are especially due to the age group coordinators, Arthur O'Sullivan, Terry Hudson, John Cosgrave, Mike Howell, Bill Mandle and Tim Healy for a job well done. I especially wish to thank Terry Hudson for the fine job he has done over the past five years as Kit Officer. Terry's expertise, courtesy and helpfulness at all times in this key position contributed greatly to the efficiency and success of the Club. Well done, Terry.

Finally, on behalf of the Junior Club, I would like to thank immediate past Chairman, Dennis Coley and Joan Coley for their dedicated work for the Club over the years.

Gerald Walsh Senior Vice-President Juniors

TREASURER'S REPORT

As with most organisations, keeping a cricket club economically viable is difficult during times of an inflationary spiral. It is therefore extremely pleasing to comment on the financial statements for the season completed, because it has been a period of progress indicating sound control exercised by the Management Committee.

Subscription rates for the Juniors remained unaltered from the previous year while there was an appreciable reduction in the Seniors' rates. In this latter regard, a new system was accepted by members at last year's Annual General Meeting whereby payment in early October attracted a lower rate. Subscription rates set, for wage earners \$50, and non-wage earners \$15, were accepted as full payment. This represented a decrease in the rates of \$65 and \$25 respectively which had been in operation for the past three seasons. A surcharge applied for payments beyond a stipulated date. It is reported that most players took advantage of the discount arrangement offered.

Though the Income and Expenditure Account specifies items relating to Juniors and Seniors, no absolute dissection has been made but of the surplus of \$1,905, the bulk is attributable to the Senior section of the Club. The efforts of a few stalwarts in manning the stalls at representative fixtures and selling weekly raffle tickets cannot be too highly stressed. Income derived from these sources effectively meant that subscription rates were \$25 less than they otherwise would have been. All members should be appreciative of the efforts of the hardworking "few".

The task of preparing wickets has always proved a challenging one, particularly as so few members share this lot. It would be so much easier to revert to the old methods of having the Department prepare the wickets though such might be unlikely to be permitted in the current climate if the Club hoped to retain both grounds. Analysis of the accounts reveals that by so preparing these wickets, the Club is \$1,230 better off and so the plea to members to assist in 1980/81 is again raised and hopefully it will fall on more receptive ears.

A significant boost to the Club's funds came about with the first grade side winning the Twilight Competition. The budget set at the beginning of the season required an amount of \$750 to be raised over and above

subscriptions, stalls proceeds and weekly raffles. The receipt of the proceeds of the Twilight Competition substituted for this and consequently moneys raised from the 100 Club were used to subsidise the Presentation Night by \$10.00 per double.

At the time of preparing this report, it would seem that provided the Club decides to continue with the up-keep of the O'Connor and Aranda wickets, fees for 1980/81 should amount to much the same as in the current season.

Gerald Garrity Honorary Treasurer

WESTERN DISTRICT CRICKET CLUB

INCOME AND EXPENDITURE ACCOUNT FOR THE 11 MONTHS ENDED 30 APRIL 1980

1979	Income	1980	1979	Expenditure	1980
<i>\$</i>		\$	\$		\$
5037	SUBSCRIPTIONS	4435	3231	EQUIPMENT	2692
2184 2853	- Seniors 186 - Juniors 257	i	1531 1700	- Seniors 1404 - Juniors 1288	
1381	HIRE OF OVALS - O'Connor/Aranda	1375	460 400 60	FEES TO A.C.T.C.A. - Seniors 640 - Juniors 100	740
983 232 166	Competition Use 96 - O'Connor - Other 29 - Aranda - Other 12	0	940	GROUND RENTALS EXPENSES	960
541	DONATIONS	20	75 ——	- Wicket Preparation	145
) -1	DOMITTONO		35 40	- O'Connor Oval 68 - Aranda Oval 77	
136	INTEREST RECEIVABLE	180	526	NET COST OF ACTIVITIES	836
1320	NET PROCEEDS - Stalls at Representative	1609	394 132	- Presentation Night 711 - Socials and Coach- ing Seminar 125	
471 578 164	Matches 77 - Weekly Raffles 48 - Prawn Morning - "100" Club 35	2	544	UMPIRES FEES	42 2
107 	- "100" Club 35	980	325	DONATIONS TO SCHOOLBOY & JUNIOR REPRESENTATIVE PLAYERS	100
· 	(net)		155	PRINTING ANNUAL REPORT	150
86	MISCELLANEOUS	293	268	TROPHIES - Juniors	260
			549	MISCELLANEOUS	
			136	- Seniors 353	682
			413	- Juniors 329 	
			1428	SURPLUS FOR YEAR TRANS- FERRED TO ACCUMULATED FUNDS	1905
\$8501		\$8892	\$8501		\$8892

WESTERN DISTRICT CRICKET CLUB

BALANCE SHEET AS AT 30TH APRIL 1980

					
1979	LIABILITIES	1980	1979	ASSETS	1980.
\$ 6 <u>12</u> 9	ACCUMULATED FUNDS	\$ 8034	\$ <u>50</u> 8	INVESTMENTS Canberra Permanent Building Society 1000	\$ 2515
4701 1428	Balance as at 1/6/79 6129 ADD Surplus for year 1905		<u>508</u>	Civic Cooperative Permanent Building Society Ltd, Jamison Centre 1515	
			5 <u>841</u>	CURRENT ASSETS	5779
			33	Bank - C.B.Co. Ltd, Jamison Centre 432	
			5348	Equipment (at valuation and cost) (Note 2) 5111	
220	CURRENT LIABILITY Accrued Expenses <u>260</u>	260	2727 1988 633	Cricket Gear: -Seniors 2717 -Juniors 2017 -Other equipment (note 3) 377	
	<u></u>		87 (35)	Subscriptions in Arrears 213 LESS Provision for doubtful debts 99 114	
			408	Sundry Debtors 122	
;6349		\$8294	\$6349		\$8294

NOTE:

- (1) The accounting period has been changed from year ended 31 May to year ended 30 April. These financial statements therefore only reflect results for 11 months.
- (2) Unused equipment has been valued at cost; a conservative value has been placed on used equipment.
 (3) Includes Caps (\$201,) T-Shirts (\$101) and other

(3) Includes Caps (\$201,) T-Shirts (\$101) and oth equipment.

AUDITOR'S REPORT

I have examined the above Balance Sheet as at 30 April 1980, and the attached Income and Expenditure Account for the 11 months then ended, for the Western District Cricket Club.

In my opinion the accounts are properly drawn up so as to exhibit a true and fair view of the financial position of the club according to the information at my disposal and the explanations given to me.

M. H. Marshall A.A.S.A., B.A. Honoary Auditor 18th June, 1980.

FIRST GRADE

1979-80 was a year of mixed blessings for the first grade side. A win in the Twilight Competition gave us high hopes for the Premiership, but unfortunately we could manage only fourth place when we lost the Semi-Final against Ginninderra. It was a disappointing end to the season, especially as we were defending Premiers, but it is pertinent to remember that we lost five first grade players from last season's team - a loss no side could easily overcome. In spite of this, I believe Wests were the equal of any side in the competition (in fact, we beat each side at least once except the eventual Premiers, Norths). Unfortunately, we lost a couple of crucial tosses in the one-day games, and did not play as well as we should have in the last two vital games. Our final record of eight wins, four losses and two draws was not a true indication of the strength of the team.

Throughout the season, our batting was probably the best of any side in the competition. This did cause some problems for the late order batsmen who frequently had to sacrifice their innings for the sake of quick runs, or who were forced into grim defence on the occasions when the top order failed. The fact that they did so without complaint speaks volumes for their team spirit.

The bowling this season was steady without ever being spectacular. Too often we failed to press home the advantages gained from early breakthroughs. Some of the blame for this can be laid to fielding lapses, especially close to the wicket.

The opening batting positions were a little unsettled with only Steve Marshall opening in all games. Steve was a reliable performer all year and his application, notably against Easts where he scored 56, was pleasing. Terry Khan continued his great form from last season and became not only Wests, but also the A.C.T.'s, regular opener. The fact that Terry was able to successfully adapt his batting to any position from number 1 to number 6 is testimony to his technique and determination. His 83 not out against Ginninderra in the Semi-Final was a model of concentration and gave us a fighting chance in that game.

David O'Neill opened for three games and was beginning to show some form when he left on an overseas trip. Barry Andrews also opened on

occasions as well as batting down the order, but lack of opportunity restricted his performances. Barry showed he was always prepared to put the interests of the team first and lost his wicket a few times when asked to chance his arm and chase runs in a hurry.

early games through injury, and although he began with a flourish, scoring a magnificent 97 against University, he failed to live up to his early promise. This was due, I believe, to him "freezing up" and not playing his usual punishing game. Greg was, however, in his element in the Twilight competition, where his natural aggression proved to be a tremendous asset. Bowlers found it impossible to bowl to him, and this, combined with his useful bowling and fielding made him a popular recipient of the Player of the Year for that competition. Greg will be leaving this year and on behalf of the Club I would like to take the opportunity to wish him well for the future.

At numbers 4 and 5, Tony Irvine and Russell Rogers both had successful seasons, scoring over 470 runs each. The highlight was their partnership of 165 against Weston Creek. Russell's batting improved markedly this year. He is a great opportunist and a marvellous improviser, qualities which make him the finest hitter of loose balls in Canberra. His close to the wicket fielding was also a great asset.

The lower order batting suffered from a dearth of opportunity but all stuck manfully to the task and often produced the goods when needed. Glenn Croker is a young player with a lot of potential, and an excellent field. His 29 against South Woden was his best score, and I expect him to benefit from the experience gained this year to score more runs next season. Glenn was a more than useful player in the Twilight competition with his aggressive batting and fielding and his tight bowling.

Graham Bush proved to be not only a good leggie, but a very handy middle to late order batsman, combining a good defence with hard hitting. His 190 runs at around 21 was great value from a number 7, the highlight being his gutsy 53 not out against Woden.

Wayne Boardman struggled for runs this season but too often had to sacrifice his innings chasing runs. Wayne showed his true form in the Twilight Final when he hit about 20 off the last over.

The wicket-keeping duties were capably performed by Chris Reardon. Chris showed some form with the bat, his gritty 18 not out in a match winning partnership of 70 with Graham Bush against Woden being his best performance.

On the bowling side, newcomer Graham Bush was our most successful bowler with 44 wickets. Although sometimes expensive, Graham has the ability to bowl sides out and is a fine fieldsman as well as a great Club man.

The opening bowling duties were the province of Andy MacDonald and Wayne Boardman. Andy, although erratic at times, had quite a good season with 32 wickets at 15, and bowled superbly on occasions. His best effort was 4/30 against Ginninderra. Like Andy, Wayne too often had to bowl on dry, dusty wickets but when given a pitch which suited him, such as Deakin, he bowled very well indeed.

Terry Khan gave great support with his tight off-spinners, but he must be prepared to give the ball a little more air. Terry's nagging length and accuracy undoubtedly heped the other bowlers pick up wickets, as did his fine fielding. His 4/43 in the Semi-Final against Ginninderra completed a fine all-round performance for Terry in that game and underlined his value to the side.

In conclusion, I would like to express my appreciation to Wayne Boardman for his help and excellent advice as Vice-Captain, to Russell Rogers and Gerry Garrity for their work with selections, to the ladies who heped with afternoon teas, and finally, and most importantly, to all the members of the team for their support and camaraderie.

Tony Irvine

FIRST GRADE

BATTING AND FIELDING

	Mtchs	Inngs	N.O.	H.S.	Runs	Avge	50	100	Ctchs	Stp
	7.0	^			07	70 40				
Andrews, B.	10	9	2	36	87	12.43	-	_	3	_
Beacroft, G.	11	10	-	97	197	19.70	2	_	5	-
Boardman, W.	15	10	4	21	55	9.17	-	-	3	-
Bonnett, P.	3	2	have	0	0	_	_	-	-	-
Bush, G.	15	12	3	56 *	190	21.11	2	-	12	-
Croker, G.	14	12	2	29	121	12.10	-	-	10	
Gelding, G.	1	Did No	t Bat							
Irvine, A.	14	14	-	103	475	33.93	3	1	5	-
Khan, T .	14	14	5	83*	375	41.67	3	-	9	-
MacDonald, A.	14	3	1	23	<i>32</i>	16.00	-		1	
Marshall, S.	15	15	I	56	228	16.29	1	_	2	_
Mitchell, P.	5	1	1	4*	4	-	-	-	1	-
O'Neill, D.	5	3	-	48	61	20.33		_	2	-
Reardon, C.	15	6	3	26	<i>75</i>	25.00	-	_	13	5
Rogers, R.	14	14	3	91	470	42.73	3	_	12	-

BOWLING

	Overs	Mdns	Runs	Wkts	Avge	B/B	5W Inns
_		_					
Andrews, B.	3	2	<u>1</u>	0		0/1	***
Beacroft, G.	39	10	123	3	41.00	2/48	-
Boardman, W.	172	42	404	19	21.26	3/40	
Bush, G.	254.2	43	75 <i>2</i>	44	17.09	5/60	3
Croker, G.	27	5	88	4	22.00	2/16	-
Gelding, G.	19.4	5	<i>33</i>	2	16.50	2/33	-
Irvine, A.	3.1	-	19	1	19.00	1/15	_
Khan, T.	258.5	89	457	24	19.04	4/43	-
MacDonald, A.	237.2	57	500	<i>32</i>	15.63	4/30	_
Mitchell, P.	42	10	77	4	19.25	2/15	-
Rogers, R.	0.3	_	2	1	2.00	1/2	_

BEST PERFORMANCES

Batting:

G. Beacroft, 97,50

G. Bush, 53 n.o., 56 n.o.

A. Irvine, 103, 90, 61, 50

T. Khan, 83 n.o., 77 n.o., 64

S. Marshall, 56

R. Rogers, 91, 85, 71

Bowling:

G. Bush, 5/60, 5/64, 5/70, 4/18, 4/47

T. Khan, 4/43

A. MacDonald, 4/30, 4/52

^{*} Denotes Not Out.

SECOND GRADE

The opening of the season contained somewhat of an air of intrigue as ten rather than the normal eight clubs participated in the first and second grade competition. Allowing for the normal number of newcomers to Canberra cricket, some 40 players who would otherwise have found permanent places in third grade participated in the second grade competition, with these new players distributed fairly evenly amongst all ten clubs.

It was anticipated that the standard would be lower than in previous years and this proved to be so. Our own side took on a new look having only one player from the premiership side of two seasons ago and only four from the previous year's finalist team in the Wests lineup for the first game.

Of the twelve players who won places over the last few rounds, six were either still attending or had been at school in the last two years. The Club can be well pleased in having such an array of promising players hopefully available for future seasons.

One of the big weaknesses in the team was the failure of the side to get away to good starts - the highest opening partnership for the entire season being 42. Several players were tried, Alan Grigg having some success with his aggressive style. Several times he paved the way for later batsmen to carry on with the job. David O'Neill, on his return from overseas, opened in the last five games and probably proved the soundest batsman in the team, though he failed to produce one sizeable score. Two players from last year's Under 16 side, David Garrity and Peter Reed, were regular members of the side, each indicating ability beyond his years. Peter proved very sound and played several solid innings while David, a fluent stroke maker scored runs consistently but failed to put together innings beyond 40. Both showed weaknesses outside the off-stump which will need to be worked on if they are to lift that aspect to match other aspects of their game. Peter Bradley, with limited opportunities, also showed promise and should become a regular second grade player next season.

Ken Brazell and Paul Bonnett both started the year in splendid fashion. Paul's unavailability in mid-season and subsequent lapse of form when he returned to third grade, together with Ken's run of wretched luck saw them

finish the season in thirds. Each is certainly better than that — as will probably be shown next season. Geoff Gelding at number 7 was one of the team's most consistent batsmen. Like Alan Grigg, he attacked the bowlers and was rewarded with a splendid season — the aggregate and average, plus a memorable century against South Woden in conditions which words cannot describe. His explosive batting at times changed the complexion of games and it is pleasing to see an old campaigner really do justice to his batting. In scoring his century, he and Tim Driscoll broke the partnership record — a most fitting reward for two players who give of their all consistently. Tim missed approximately one third of the season but in what was seen of him, both with the bat and behind the stumps, he is certainly a first grader for next season. His keeping at times was superb.

Gerald Garrity had a fair season with the bat while Garry Beauchamp, after missing the first few rounds, proved that he is a genuine second grade all-rounder and a fine team player.

The bowling was possibly the side's strength with the speed attack headed by Phil Mitchell and Steve Bryant. There were few occasions when we had to chase 200 runs fortunately! Phil, who has been on the Wests scene for a few years, came to the fore this season and given the opportunity will prove a genuine first grader right from the start of next season. Steve's 36 wickets were a reward for persistently accurate bowling. On several occasions he came back in his second spell to either contain the batsmen or to wrap up an innings. Tony O'Connor commenced with a bag of five wickets in the first match but failed to reproduce that form in later games. Bruce Coe came into the side when Tony went to Brisbane and was rewarded against Norths with five wickets to all but snatch victory for the team. The spinners had their share of success with Garrity and Beauchamp themselves accounting for nearly half the wickets taken. Geoff Gelding, by his own bowling standards, had a lean season though his inspired spell of 5/21 nearly pulled the Semi-Final out of the fire.

The other century-maker for the team was Greg Beacroft, who is his comeback match showed clearly that he is well above second grade standard. His 135 not out made in less than even time included 6 sixes. After Christmas, Barry Andrews played a fine hand against Weston Creek, and his promotion for the first grade Semi-Final created a void in our line-up.

His presence in the Semi-Final line-up could well have been the difference between winning and losing.

The team's fielding was, by any standards, very poor. Despite the fact that nearly half the side were under 20, the youngsters, with the notably exceptions of Tim Driscoll and Justin Reed, were disappointing. One would have expected that quick reflexes, strong and accurate throws and safe hands would have been seen but these were seldom evidenced. The best fieldsman was Justin Reed whose performances in both games against East Canberra were quite outstanding. The loss of Tony O'Connor was evidenced in the field. When one considers that as the balance of the side was made up of "old" players who also had unsafe hands and were somewhat leaden footed, it was surprising that the bowlers were able to dismiss sides so cheaply.

To overcome this deficiency I would like to see a round-robin 7-a-side competition conducted midweek within the Club. Not only would it serve to add variety so necessary if training is to be purposeful, but it would enable club members of all grades to play together. Matches could be played on a 16/20 over basis and there is little doubt that the competitiveness would appreciably elevate the fielding standards with pressure being on all the time. Running between wickets should also improve.

Overall the season had a lot to commend it. The approach of players and their attempts to win rather than draw games was extremely pleasing and finishes against South Woden (twice) and Easts were each quite memorable and something to reflect on in years to come. Two outright wins were achieved and two others were nearly secured against ANU and Woden. To have finished minor premiers, and be beaten in the Semi-Final by three wickets by the side which won the competition, must rate very highly. When one looks at the youth of the side, the club should be well pleased with the performance of its second grade team.

Special mention should be made to Jenny O'Neill for her contribution for the very important afternoon tea duties and to the other ladies who assisted with the lunches for the Semi-Final.

SECOND GRADE

BATTING AND FIELDING

	Matchs	Inngs	N.O.	Н.S.	Runs	Avge	50	100	Ctchs	Stp
Andrews, B.	4	7	1	68	146	24.33	1	_	1	_
Beacroft, G.	1	1	1	135*	135		_	1	2	_
Beauchamp, G.	11	13	3	44	119	11.90		P	3	_
Bice, J .	1	1	1	1*	1		_	_	_	_
Bonnett, P.	5	5	-	42	110	22.00	_	_	1	_
Bradley, P .	6	7		48	93	13.28			5	_
Brazell, K.	8	10	-	41	143	14.30		_	7	_
Bryant, S.	14	11	5	5*	20	3.33	_	_	2	
Coe, B.	4	3	_	19	19	6.33		_	1	
Dowling, P .	3	4	1	9*	16	5.33		_	1	
Driscoll, T.	9 ·	10		68	185	18.50	1	_	16	3
Garrity, D.	14	20	4	38*	316	19.75	_	_	8	_
Garrity, G.	15	19	6	60	234	18.00	1	-	11	_
Gelding, G .	14	18	5	102*	352	27.08	_	1	8	_
Grigg, A.	13	16	-	75	313	19.56	1	_	13	3
Karey, B.	1	Did Not	Bat						_	_
King, D.	1	2	-	7	8	4.00		_	_	_
Mitchell, P.	8	7	4	6	12	4.00	-	_		_
O'Connor, A.	11	10	-	42	101	10.10	_	_	8	_
O'Neill, D.	5	7	I	25	110	18.33		_	2	
Reed, D .	1	1	-	-	0	0	-	_	1	_
Reed, J .	4	5	-	9	23	4.60	_		3	_
Reed, P .	11	15	1	52	167	11.93	-	_	2	-
Weston, A.	1	1	· -	2	2	2.00	-	-	-	-

BOWLING

	Overs	Mdns	Runs	Wkts	Avge	B/B	5W In	10W In
Pongroft C	4		_					
Beacroft, G.	4	_	6	_	-	_		
Beauchamp, G.	114	25	282	21	13.43	3/18		
Bryant, S.	243.3	74	50 3	36	13.97	6/43	J	
Coe, B.	68	11	195	11	<i>17.73</i>	5/47	1	
Dowling, P.	11	4	25	-	_	·		
Garrity, D.	14	4	36	2	18.00	2/18		
Garrity, G.	264.5	92	472	47	10.04	6/23	4	7
Gelding, G.	119	17	311	18	17,28	5/21	1	
Grigg, A.	1	_	4	-				
Karey, B.	11	5	22	1	22.00	1/22		
King, D.	6	2	9	<u>-</u>	_			
Mitchell, P.	129.2	40	240	23	10.43	5/28	1	
O'Connor, A.	129	<i>30</i>	330	19	17.36	5/31	7	
O'Neill, D.	3	-	13	٠	-	_		

BEST PERFORMANCES

Batting:

- B. Andrews, 68
- G. Beacroft, 135 n.o.
- T. Driscoll, 68
- G. Garrity, 60
- G. Gelding, 102 n.o.
- A. Grigg, 75
- P. Reed, 52
- Bowling: S. Bryant, 6/43
 - B. Coe, 5/47
 - G. Garrity, 6/23, 5/35, 5/36, 5/41
 - G. Gelding, 5/21
 - P. Mitchell, 5/28
 - A. O'Connor, 5/31

THIRD GRADE

The 1979/80 season was not an easy one for thirds. Unavailability of players often led to the selection of unbalanced combinations, especially in mid-season. In all 30 players represented thirds during the season. Of the 14 matches played 4 were won, 9 were lost and 1 was drawn. The side finished in 9th position - a little disappointing in comparison with previous seasons. However, 5 matches were lost by narrow margins and had several of these games gone the other way thirds could have reached the Semi-Finals.

The highlight of the season was undoubtedly the team's win against Weston Creek who had amassed 300 runs in extreme heat on the first day. Very few Canberra sides have been able to win when faced with a score of that size.

Sid Smith scored the highest number of runs for the season (269) followed by Stuart Peacock (218). The highest individual score was an excellent 94 made by Peter Reed during his short stay in thirds. The most spectacular innings was Mick Hromow's match winning 58 not out in 45 minutes against Weston Creek. Towards the end of this extraordinary innings Mick was beginning to play shots that were in the book.

It was pleasing to see Peter Bradley regain form after a bad start to the season. His two half-centuries against ANU will long be remembered. Stuart Peacock played several good innings including two half-centuries, both under pressure. Warren Blackshaw started well, lost form for most of the second half of the season, but came good again in the last round with a well-made 41. Despite several promising starts, it was not until the last round that Ian Macleod showed his real ability with a determined 51. Robert Bradley boosted the batting during his stay scoring 114 runs in 3 matches.

Mick Hromow was the leading wicket-taker with 20 victims. His best figures were 7/74 off a marathon 34 overs against Norths. He also took 4/6 against Woden and sent down 26 overs in near-century heat against Weston Creek. Bruce Coe captured 18 wickets in 7 matches before being promoted to seconds. His performances included 7/34 (the season's best), 4/36 and 4/40. Don King with 16 wickets in 6 matches was just reaching top form when injury put him out for the season. Don's performances included 5/35 and 3/9.

Brian Karey showed he could be a force to be reckoned with in the future. His best performances were 4/23 off 16 overs and 3/33 off 24 overs. Also worthy of mention were his 22 overs against Weston Creek and 26 overs with cracked ribs against Norths. Stuart Peacock captured 13 wickets with his leg breaks. He worked hard improving length and direction. He will become more successful when he can generate a little more pace off the pitch. Chris Morgan was the other front line bowler, capturing 12 wickets in 7 games with his medium pacers.

Under protest, Ian Macleod did a good job behind the stumps for most of the season.

Sid Smith

THIRD GRADE

BATTING AND FIELDING

	Mtchs	Inngs	N.O.	H.S.	Runs	Avge	50	100	Ctchs	Stp
Beauchamp, G.	3	4	0	29	79	19.75	-	_	_	H
Bice, J .	1	1	0	27	27	27.00	-	_	1	_
Blackshaw, W.	12	14	1	41	185	14.23		-	6	
Bonnett, P.	. 3	4	0	19	31	7.75	_	-	1	-
Bradley, P.	8	10	I	5 <i>0</i>	190	21.11	2	-	_	1
Bradley, R.	3	4	1	53	114	38.00	1	-	2	-
Brazell, K.	3	4	0	35	44	11.00	-	_	2	
Casey, A.	1	1	0	8	8	8.00	-	_	-	_
Coe, B.	7	6	2	19	41	10.25			3	-
Dowling, P.	7	8	2	16	31	5.17	-	_	1	-
Doyle, J.	1	1	1	2*	2	-	-	-	1	-
Francis, J.	3	4	0	13	15	3.75	_	-	3	1
Goynich, M.	1	1	0	2	2	2.00			_	_
Houston, C.	1	1	0	22	22	22.00	•	-		-
Hromow, M .	10	9	2	58*	89	12.71	1	-	3	-
Hurst, A.	2	2	1	6 *	7	7.00	-		1	-
Hutchison, T.	2	3	0	8	9	3.00	-	-	-	1
Karey, B.	10	10	4	22	44	7.33	-	-	-	-
King, D.	6	7	2	27	51	10.20	-	-	2	-
Leriche, M.	7	7.	1	15	34	5.67	-	-	-	-
${\it Macleod}$, ${\it I}$.	12	13	1	51	149	12.42	1	_	9	2
Morgan, C.	8	11	1	16	84	8.40	-	_	4	-
Peacock, S.	14	14	0	61	218	15.57	2		3	
Reed, J .	4	5	0	19	58	11.60	-	_	2	
Reed, P .	3	4	0	94	120	30.00	1	-	1	-
Selman, C.	.4	4	1	22*	<i>37</i>	12.33	_	-	-	_
Smith, D.	1	1	0	4	4	4.00		-	-	_
Smith, S.	12	15	1	5 <i>2</i>	269	19.21	1	-	5	_
Wentworth, P .	4	5	0	22	50	10.00	-	-	-	_
White, I.	1	1	1	10*	10	-	-		-	-

BOWLING

	Overs	Mdns	Runs	Wkts	Avge	B/B	5W Inns
Beauchamp, G.	29	8	56	1	56.00	1/29	_
Bice, J.	12	2	37	2	18.50	2/37	-
Blackshaw, W.	1	0	1	0	•••	_	-
Bradley, P.	5	1	16	2	8.00	2/13	-
Brazell, K.	1	0	2	0	_		-
Coe, B.	82.3	16	167	18	9.28	7/34	1
Dowling, P.	31	7	71	2	<i>35.50</i>	1/6	-
Hromow, M.	118.5	33	263	20	13.15	7/74	1
Karey, B.	<i>159.4</i>	42	<i>355</i>	15	23.67	4/23	_
King, D.	86	22	173	16	10.81	5/35	1
Leriche, M.	13	1	37	0	-		-
Macleod, I.	1	0	4	0	_	-	_
Morgan, C.	79	21	177	12	14.75	3/19	-
Peacock, S.	. 96	10	317	13	24.38	4/65	-
Selman, C.	37	10	96	1	96.00	1/38	-
Smith, S.	16	2	40	2	20.00	1/6	-

^{*} Denotes Not Out

THIRD GRADE

BEST PERFORMANCES

Batting: P. Bradley, 60, 50

R. Bradley, 53 I. Macleod, 51

S. Peacock, 61, 56

P. Reed, 94

S. Smith, 52

Bowling: B. Coe, 7/34

M. Hromow, 7/74

D. King, 5/35

FOURTH GRADE

Although not reaching the finals, I must congratulate all who played for a most enjoyable season. We were in equal third place with one game to play, but unfortunately Norths were too good in that game. Despite missing the Semi-Finals by one point, it was a top effort from everyone for going so close.

The team looked like it could score a lot of runs each time it batted, but it did not happen. Any score near 100 was almost a winning one. With Rob Scott and Greg Lalor as opening bowlers, they were able to pave the way for most of our wins. Although some individual efforts were factors in our wins, enough cannot be said of Rob and Greg.

The batting was the downfall of the team as most players, on a few occasions, got a fair start but could not carry on, showing a definite lack of application. We all realised this and have the ability to overcome it. Congratulations to Glen Fisher for his fine wicket-keeping and for his great 67 not out against Weston Creek, the team's highest score of the season. The younger batsmen, particularly Tim Hutchison and Russell Peacock both found, at the end of the season, that with application the runs will come. Keep up the good work. A number of past and present junior under 16 players played in the team and we hope will again next season. The experience gained will help greatly to reach greater heights in the Club. To all players who helped out over Christmas, thanks for your valued support.

I believe all players will be lining up again next season, although probably not all in fourths. I look forward to playing again as I have rarely played in any sport with a team with so much team spirit and willingness to help each other as this fourth grade team.

I have not mentioned many individuals, not because they did not deserve it at one time or another, but because it was our team as a whole which kept us in the running for finals honours. In all, the team used 27 players throughout the season, so I say thank you 26 times. I look forward to seeing you all next season, not only at the game but hopefully at practice at least once a week.

FOURTH GRADE

BATTING AND FIELDING

	Matchs	Inngs	N.O.	H.S.	Runs	Avge	50	100	Ctchs	Stp
Adams, J.	5	8	_	11	24	3.0	_	_	1	
Ayre, S.	10	14	2	15	48	4.0	_	-	2	-
Blackshaw, W.	1	1	-	28	28	28.0	_	_		_
Bradley, R.	1	1	_	8	8	8.0	_	_	_	_
${\it Campbell, T.}$	1	1	1	0*	0	_		_	-	
Casey, A.	1	1		13	13	13.0	_		2	_
Chibnall, R.	2	2	_	13	24	12.0		_	_	_
Fisher, G.	9	11	1	67*	142	14.2	1	_	12	3
Francis, J.	1	2		15	15	7.5	-		_	
Hewat, J .	10	11	2	23	51	5.66		_	2	-
Houston, C.	1	2	-	0	0	_	_	_	_	_
Hutchison, T.	10	15	2	31	133	10.23	_	_	_	_
Karey, B.	2	2	1	1	1	1.0	_		1	
King, P.	. 2	2		3	5	2.5	-	_	1	
Lalor, G.	13	13	2	15	42	3.82		_	3	_
Leriche, M.	5	7	1	30	102	17.0	_	_	2	_
Macleod, I.	2	3	-	13	. 18	6.0	-	_	3	_
Mitchell, P.	1	1	-	6	6	6.0		_		_
Murray, P.	7	9	-	22	48	5.33	-	_	3	_
Peacock, B.	14	19	5	61	443	31.65	2	_	6	_
Peacock, R.	13	15	1	31*	75	5.36	_		3	_
Scott, R.	12	14	4	13	63	6.3	_	_	8	_
Sinderberry, M.	2	3	1	9 .	15	7.0	-	<u>-</u>	1	m-
Treloar, M.	14	20	ı	36	195	10.26	-		4	_
Wentworth, P.	3	4	-	17	28	7.0	-		2	_
Wilson, M.	2	2	2	0*	0	· -	_	_	_	~
Woodward, I.	10	13	1	30	79	6.58	-	-	3	-

BOWLING

	Overs	Mdns	Runs	Wkts	Avge	B/B	5W Inns
Adams, J.	40.2	3.2	120	5	24.0	2/12	_
Ayre, S.	4	2	7	-		0/7	-
${\it Campbell}, T.$	15	3	23	1	23.0	1/15	_
Chibnall, R.	21	5	33	2	16.5	2/22	-
Hewat, J.	3	1	5	0	-	o	_
Hutchison, T.	1	-	2	_	_	0/2	_
Karey, B.	29	7	39	4	9.75	3/43	_
King, P.	2	-	13	1	13.0	1/13	•
Lalor, G.	193	55	299	27	11.07	4/36	
Leriche, M.	63	21	77	8	9.63	3/12	_
$ extit{Mitchell, P.}$	16	9	17	5	3.40	5/17	1.
Murray, P.	26.2	10	40	2	20.0	2/10	_
Peacock, B.	128.3	28.3	282	35	8.06	6/24	2
Peacock, R.	10	2	30	2	15.0	2/5	-
Scott, R.	166.4	43	312	38	8.21	7/22	3
Treloar, M.	1	-	2	0	-	0/2	_
Wentworth, P.	5	1	11		-	0/11	_
Wilson, M.	14	5	18	4	4.50	4/10	_
Woodward, I.	2.3	3	4	1	4.0	1/0	

^{*} Denotes Not Out

FOURTH GRADE

BEST PERFORMANCES

Batting:

G. Fisher, 67 n.o.

T. Hutchison, 31

M. Leriche, 30

B. Peacock, 61, 60 n.o., 40 n.o., 40, 38 n.o., 34 n.o.

R. Peacock, 31 n.o.

I. Woodward, 30

Bowling:

G. Lalor, 4/36

P. Mitchell, 5/17

B. Peacock, 6/24, 5/22, 4/5, 4/27, 4/45, 4/58

R. Scott, 7/22, 6/14, 6/21, 4/27

M. Wilson, 4/10

CLUB CAREER PERFORMANCES 1969/70 TO 1979/80

Batting	Mtchs	Inngs	N.O.	Runs	H.S.	Avge	100	50	Ctchs	Stp
Adams, J.	5	8	0	24	11	3.00	-		ı	
Allan, R.	78	81	16	1297	106*	19.95	1	3	36	_
Anderson, B.	12	16	2	151	34*	10.79	-	_	3	
Andrews, B.	63	71	7	1231	99	19.23	_	4	3 14	-
Ayre, D.	10	11	1	199	56	19.90	_	1		_
Ayre, S.	10	14	2	48	15	4.00	_		6 2	_
										_
Balkin, K.	48	5 <i>4</i>	13	790	72	19.27	_	4	22	-
Beacroft, G.	73	82	18	1687	135*	26.36	1	7	30	=-4
Berling, A.	12	13	_	217	66	16.69		1	7	_
Beauchamp, G.	138	179	30	1730	62	11.61		1	27	•
Bice, J.	<i>37</i>	39	3	433	58	12.03	-	1	29	
Blackshaw, W.	13	15	1	213	41	15.21	-	-	6	-
Blundell, G.	57	7 <i>6</i>	13	763	49	12,11	_	-	42	10
Boardman, W.	28	23	4	265	67	13.95	-	1	7	-
Boden, N.	27	30	3	395	49	14.63	-	-	13	-
Bonnett, P.	71	94	11	1452	100*	17.49	1	4	32	_
Bradley, P.	41	51	3	758	60	15.79	-	2	14	-
Bradley, R.	36	42	7	75 <i>2</i>	101	21.49	1	2	12	-
Brazell, K.	52	70	5	863	55	13.28	-	1	23	-
Bryant, S.	28	26	11	169	32*	11.27	_		8	_
Buckley, L.	28	<i>37</i>	8	489	43*	16.86	-	-	10	-
Bush, G.	15	12	3	190	56*	21.11	-	2	12	-
Campbell, T.	4	4	2	7	3*	3.50	_	_	-	-
Canney, I.	70	88	4	1642	102	19.55	1	5	42	_
Carney, D.	34	44	10	531	86*	15.62		1	9	_
Casey, A.	81	75	23	<i>353</i>	33*	6.79	_	_	108	. 8
Chibnall, R.	43	51	4	576	75	12.26	_	2	10	_
Coe, B.	50	47	13	<i>353</i>	29	10.38	_	_	26	
Cristofani, V.	41	48	9	909	103*	23.31	1	5	13	_
Croker, G.	66	7 <i>7</i>	10	1292	79*	19.28	-	3	32	-
Delaney, E.	27	31	2	396	54*	13.66	-	1	11	
Dockrill, B.	64	64	22	<i>377</i>	32*	8.98	_	_	12	_
Dowling, P.	10	12	3	47	16	5.22	-		2	_
Doyle, J.	1	1	1	2	2*	-	-	_	1	_
Driscoll, D.	27	<i>30</i>	5	333	40	13.32	-	_	19	19
${\it Driscoll}$, ${\it M}$.	5	6	1	<i>38</i>	17	7.60		_	1	-
${\it Driscoll}$, ${\it T}$.	38	<i>37</i>	10	504	68	18.67	_	3	5 <i>5</i>	22
Dunstan, D.	18	26	3	218	34	9.48	_	_	-	_
Eade, F.	35	54	1	696	55	13.13	_	2	27	_
Evans, G .	40	48	11	478	86	12.92		1	11	_
Evans, S.	24	34	3	303	41	9.77	-		13	-
Falconer, D.	1	1	1	34	34*	-	_	_	_	
Fisher, Gary	36	44	4	321	41	8.03	_	_	5	_
Fisher, Glen	9	11	1	142	67*	14.20		1	12	3
Foulstone, D.	55	72	5	652	33	9.73		_	10	_
Foxcroft, K.	27	39	9	400	59	13.33	_	2	2	_
Francis, J.	4	6	-	30	15	5.00	_	_	3	1
Fredericks, C.	40	5 <i>8</i>	8	396	32*	7.92	_		5	_

	Mtchs	Ings	N.O.	Runs	H.S.	Avge	100	50	Ctchs	Stp
Garrity, D.	37	46	9	766	66	20.70	_	-	17	
Garrity, G.	75	88	14	1449	83	19.58	-	4	51	_
Geldart, G.	38	5 <i>7</i>	17	309	36	7.73	_		7	
Gelding, G.	120	135	19	1618	102*	13.95	1	2	<i>57</i>	_
Goynich, A.	4	4	_	17	3	4.25	_		2	-
Goynich, M.	2	3	_	24	21	8.00	_		I	_
Graham, A.	20	24	2	196	47	8.91		-	5	_
Gray, M.	35	44	2	643	64	15.31	-	2	19	_
Grigg, A.	80	99	7	1610	126*	17.50	1	5	73	13
Hagan, P.	25	33	8	527	100*	21.08	1	1	11	-
Hall, M .	56	46	14	486	48*	15.19	-	-	20	-
Hamilton, I .	53	59	16	298	35*	6.93	-		12	_
Heggen, M.	19	22	3	185	33*	9.74	-	-	3	-
Heggen, S.	39	39	5	459	67	13.91		1	19	-
Hewat, J .	10	11	2	51	23	5.67		_	2	_
Hill, K.	10	14	-	90	29	6.43	•••	-	1	_
Houston, C.	2	3	-	22	22	7.33	-	 7	-	_
Hromow, M.	58	64	15	450	58*	9.18		1	12	_
Hughes, D.	40	5 <i>3</i>	5	675	5 <i>3</i>	14.06		2	11	_
Hughes, T.	29	35	2	428	77	12.97	-	2	6 10	5
Hurst, A.	17	17	3	118	26 31	8.43 9.28	-	-	2	<i>-</i>
Hutchison, T.	15	20	2	167				- 5	20	_
Irvine, A.	48	50	1	1402	123	28.61	2			_
Karey, B.	26	23	11	74	22	6.17	-	-	1	-
Kelaher, D.	70	95	18	1432	7 <i>0</i>	18.60	-	3 5	46 21	_
Khan, T.	29	25	9	728	91* 72*	45.50 19.68		2 2		_
Kiernan, D.	35 7	28	. 9	374 59	73 * 27	19.08 8.43		_	11 2	_
King, D.	7	9	2 1	71	27 19	5.92	_	_	3	_
King, P.	13	13								
Lalor, G.	45	45	9	320	38*	8.89	_	- 2	11	-
Lamont, A.	27	3.1	2 7	385 393	58 35	13.28 8.36	_	_	12 16	_
Lattimore, N.	40	5 <i>4</i>			30	11.33	_	Ξ	2	_
Le Riche, M.	12	14	2	136 295	28	10.17	_	_	12	_
Lindenmayer, B.	36	35 33	6 7	762	150	29.31	2		11	_
Lindenmayer, D.	29 68	3.3 49	26	78	7*	3.39	_	_	11	_
Lipscombe, H. Lloyd, B.	7 <i>3</i>	90	12	1429	66	18.32	-	4	39	-
MacDonald, A.	66	29	15	105	23	7.50	_	_	13	_
MacLeod, I.	25	28	2	283	51	10.88	_	1	20	2
Manson, M.	26	36	7	778	7 <i>2</i>	26.83	_	2	7	سو
Marshall, M.	24.	15	7	69	25*	8.63	-	-	5	
<i>Marshall, S.</i>	74	84	8	1375		18.09	_	7		2
Matthews, W.	24	18	6	70	9	5.83			10	_
Mathieson, R.	23	38	1	449		12.14	_	_		-
McCormack, J.	35	45	2	736		17.12	•••	3		-
McLennan, I.	61	81	5	1295		17.04	-	-		-
Meek, A.	52	62	7	980		17.82	-	6	22	-
Mitchell, P.	51	35		86		4.78		-	9	-
Moore, D.	65	5 <i>2</i>		562		14.05		-	_	-
Morgan, C.	51	74		844		12.23		1		1
Munt, D.	37	43		797		18.98	-	3		-
Murray, P.	58	64	2	593	56	9.56	-	1	26	-

	Mtchs	Inngs	N.O.	Runs	Н.S.	Avge	100	50	Ctchs	Stp
Neale, R.	76	79	8	484	36	6.82	-		38	_
O'Connor, A.	. 23	26		298	65	11.46	_	1	. 15	_
O'Neill, D.	10	10	1	171	48	19.00		_	4	
Osborne, D.	86	97	12	1609	125	18.93	1	4	32	_
Pattinson, W.	67	93	8	1208	91	14.21	_	3	62	4
Peacock, B.	14	19	<i>5</i>	443	61	31.65	_	2	6	-
Peacock, R.	13	15	1	75	31*	5.36	-	_	3	_
Peacock, S.	14	14	0	218	61	15.57		2	3	_
Peppinck, W.	48	42	10	252	25	7.88	_		16	
Quigg, G.	48	72	5	1425	162	21.27	3	5	13	-
	15	6	3	75	26	25.00	_	_	13	5
Reardon, C. Reed, D.	51	64	12	755	70	14.52	_	. 2	13 19	<i>-</i>
Reed, J.	25	33	6	308	49*	11.41	_	_	15	_
Reed, P.	16	21	1	317	94	15.85		2	4	_
Rogers, R.	53	56	8	1287	91	26.81	-	6	33	_
Rowe, C.	61	70	5	1294	81	19.91	_	5	97	16
Roxburgh, I.	37	49	4	672	73	14.93	-	2	8	_
Samarcq, R.	31	35	1	436	72	12.82	_	3	14	_
Scott, R.	12	14	4	63	13	6.30	-	-	8	_
Selman, C.	25	26	9	194	22*	11.41	-	_	10	-
Sinderberry, M.	3	5	1	32	16	8.00	-		2	-
Smith, D.	1	1	0	4	4	4.00	-	-		_
Smith, E.	24	24	1	290	37	12.61	_		9	2
Smith, S.	114	140	7	3218	100*	24.20	1	16	53	
Stephens, A.	13	15	1	339	102	24.21	1	1	7	
Stonebridge, B.	31	<i>36</i>	6	372	49*	12.40	~	~	29	-
Swanson, R.	16	18	3	690	133*	46.00	2	2	5 .	
Thomas, A.	28	42	7	604	68	17.26	_	1	2	_
Thomas, J .	17	16	2	302	69	21.57	-	2	4	_
Thomas, P.	16	20	6	284	53	20.29	_	1	4	_
Treloar, M.	37	45	4	412	36	10.05	-	-	7	
Wentworth, P.	7	9	0	78	22	8.67	-	-	2	-
Weston, A.	<u>1</u>	I	0	2	2	2.00	-	-	_	-
White, I.	1	1	1	10	10*		-	-	-	-
Willett, B.	70	80	18	1084	73	17.48		4	78	12
Willett, E.	. 62	80	11	811	56	11.75	-	2	24	_
Wilson, G.	23	26	6	<i>372</i>	78*	18.60	-	2	11	-
Wilson, M.	48	39	12	71	9	2.63	-	-	23	-
Winter, R.	105	128	9	2114	97*	17.76	_	6	76	_
Woodward, I.	25	30	2	343	104	12.25	1.	1	5	-
Young, G.	24	<i>33</i>	1	545	58	17.03	-	. 2	6	-

^{*} Denotes Not Out

BOWLING

BOWLING			-					
	Balls	Mdns	Runs	Wkts	Avge	B/B	5W Inns	10W Mtch
_ •	242	3	120	5	24.00	2/12	_	_
Adams, J.		115	2020	175	11.54	7/16	11	_
Allan, R.	5695 53		42	3	14.00	2/18		40-4
Anderson, B.	53	- 1	20	- -	T4.00		_	_
Andrews, B .	42	3		_	-	_	_	i
Ayre, S .	24	2	7	_	<u>-</u>		_	
Balkin, K.	3208	58	1314	118	11.14	6/45	6	-
Beacroft, G .	930	24	379	18	21.06	4/53	<u>-</u>	_
Beauchamp, G.	4478	79	2314	144	16.07	7/38	6	_
Berling, A.	728	12	380	18	21.11	3/13	-	_
Bice, J.	2284	49	905	55	16.45	7/17	2	-
Blackshaw, W.	6	-	I	· - .		_	_	-
Boardman, W.	1896	61	666	38	<i>17.53</i>	4/26		_
Bonnett, P.	64		47	2	23.50	1/11	_	_
Bradley, P.	114	1	74	4	18.50	2/13	-	-
Brazel, K.	6		2	-	- '	-	-	
Bryant, S.	2556	98	928	64	14.50	6/19	2	-
Bush, G.	1526	43	752	44	17.09	5/60	3	-
Campbell, T.	242	5	92	6	15.33	4/34		-
Canney, I.	6616	140	2555	179	14.27	7/31	9	3
	1440	77	638	48	13.29	6/35	2	-
Carney, D. Chibnall, R.	3228	75	1183	101	11.71	7/34	7	_
•	4615	97	1785	127	14.06	7/34	8	-
Coe, B. Crick, P.	1120	22	359	40	8.98	10/23	1	1
·	1072	21	441	20	22.05	4/16	-	_
Cristofani, V.	1423	29	560	34	16.47	3/14	-	-
Croker, G.					16.64	7/44	3	
Delaney, E.	2401	38	982	59		9/45	8	1
Dockrill, B .	6344	120	2444	207	11.81	9/43 1/6	-	_ _
Dowling, P .	252	11	96	2	48.00		_	_
Driscoll, M.	152	4	84	4	21.00	2/11	_	
Evans, G.	224	6	88	4	22,00	3/65	-	_
Fisher, Gary	1744	30	806			7/34	2	-
Foulstone, D.	2736	51	1232	81	15.21	4/3	_	_
Fredericks, C.	2960	48	1278	75	17.04	6/9	1	_
Garrity, D.	147	5	76	5	15.20	3/19	-	
Garrity, G.	5242	155	1928	<u>14</u> 6	13.21	6/23	8	1
Geldart, G.	1200	15	594	35	16.97	6/36	2	-
Gelding, G.	6187	85	2722	164	16.60	7/66	5	
Graham, A.	1446	32	580	39	14.87	4/22	-	-
Grigg, A.	158	4	84	5	16.80	2/19	-	_
Hall, M.	57 <i>34</i>	140	1881	130	14.47	6/17		-
Hamilton, I.	5088	115	1824	141	12.94	7/8	8	3
Heggen, M.	64	3		2	6.50	1/8	_	-
Heggen, S.	1945	24			14.71	5/29	1	-
Hewat, J .	18	1			-	-	-	-
Howe, L.	5664	94			13.20	8/51		2
Hromow, M.	4364	110				7/74	5	-
Hutchison, T.	6		2		-	_	-	-
	83	-	60		60.00	1/15		
Irvine, A.		_	00		20.00	_, _,		

	Balls	Mdns	Runs	Wkts	Avge	B/B	5W Inns	10W Mtch
Karey, B. Kelaher, D.	2349 1422 2955	75 24 135	849 626 869	42 46 54	20.21 13.61	4/23 4/8	- - 2	-
Khan, T. Kiernan, D.	2955 1665	30	869 610	54 74	16.09 8.24	5/13 6/15	2	_
King, D.	552	24	182	16	11.38	5/35	1	_
King, P.	156	2	77	11	7.00	7/30	ı	•
Lalor, G. Lamont, A.	3462 584	101 7	1116 252	89 13	12.54 19.38	5/48 3/34	<u>1</u>	- -
Le Riche, M.	444	22	114	8	14.25	3/12	-	_
Lindenmayer, B.	856	8	527	31	17.00	5/46	ı	
Lindenmayer, D.	928	18	393	30	13.10	6/28	1	-
Lipscombe, H.	5171	91	2140	141	15.18	6/46	1	-
Lloyd, B.	1600	29	640	33	19.39	4/11	_	~-
${\it MacDonald}$, A. ${\it MacLeod}$, I.	6113 14	167 -	2600 14	176 -	14.77 -	7/65 -	5 -	_
Manson, M.	1980	<i>50</i>	477	39	12.33	5/7	3	_
Marshall, M.	1592	30	726	44	16.50	6/26	2	
Marshall, S.	80	3	40	2	20.00	2/2	-	-
Matthews, W.	2021	48	768	56	13.71	7/61	3	-
McCormack, J .	296	6	138	12	11.50	3/6	_	-
McLennan, I.	2520	60	877	72	12.18	6/17	6	
Meek, A.	96 4113	1 118	66 1515	5 101	13.20 15.00	3/29 6/31	- 4	-
Mitchell, P. Moore, D.	8435	338	1926	239	8.06	7/17	19	<u>-</u> 3
Morgan, C.	3129	76	1265	91	13.90	6/31	3	
Munt, D.	978	13	491	33	14.88	6/34	1	_
Murray, P.	810	19	345	24	14.38	4/18	Physic	-
Neal, R.	9568	219	3352	297	11.29	9/52	23	2
O'Connor, A.	1358	35	630	31	20.32	5/31	1	-
O'Neill, D.	18	_	13	_	-	_	_	-
Osborne, D.	40	-	55	-		- ·	-	-
Pattinson, W.	40	_	34	1	34.00	1/7	Aug.	-
Peacock, B.	771	28	282	35	8.06	6/24	2	-
Peacock, R. Peacock, S.	60 576	2 10	30 317	2	15.00	2/5 4/65		_
Peppinck, W.	3518	88	1251 -	13 105	24.38 11.91	5/19	- 4	<u></u>
Quigg, G.	3456	77	1205	117	10.30	7/18	6	_
Reed, D.	1008	9	613	39	15.72	4/16	_	_
Reed, J.	104	. 1	62	1	62.00	1/36	_	
Rogers, R.	11	_	7	1	7.00	1/2	_	-
Rowe, C.	424	10	156	5	31.20	1/6	-	-
Scott, R.	1000	43	312	38	8.21	7/22	3	-
Selman, C.	1562	47	603	<i>37</i>	16.30	5/28	1	
Smith, S.	320	4	192	8	24.00	1/6	-	-
Tekloot, J .	768	16	267	29	9,21	4/10	-	_
Thomas, P .	992	33	326	23	14.17	5/13	1	-
Treloar, M.	8	-	39	1	39.00	1/14	-	-
Wentworth, P.	30	1	11	-	-	-	-	
Willett, B.	8	-	16	-		_	-	•
Willett, E.	320	12	113	9	12.56	3/18	-	-
Wilson, G.	32 2862	- 61	13 1242	- 00	- 13.96	- 5/19	<u></u>	
Wilson, M. Winter, R.	2862 6393	. 143	2635	89 177	13.96 14.89	5/19 7/61	3 9	
Woodward, I.	63	1	32	2	16.00	1/0	_	
•								

CLUB BATTING RECORDS

BEST PARTNERSHIP FOR EACH WICKET SEASONS 1969/70 TO 1979/80 INCLUSIVE

<u>Wicket</u>	<u>Total</u>	<u>Established</u>	Batsmen and Contribution
lst Gde			
1*	130	v Easts 31/1/72	G. Gelding 76, S. Smith 50
2*	151	v ANU 1/12/79	G. Beacroft 97, D. O'Neill 46
3*	172	v Queanbeyan 17/3/73	D. Osborne 125, I. Canney 43
4*	165	v Weston Creek 16/2/80	R. Rogers 85, A. Irvine 73
5	129	v Queanbeyan 13/11/76	R. Rogers 78, D. Munt 51
6	74	v South Woden 8/3/80	G. Bush 47, G. Croker 27
7	64	v Queanbeyan 21/10/78	T. Khan 29, G. Gelding 25
8*	94	v Woden 31/1/70	P. Hazel, B. Lloyd 42
9*	78	v Queanbeyan 28/2/70	W. Reed 42, D. Kelaher 36
10*(eq)	52	v ANU 21/3/76	R. Allan 29, D. Moore 20
2nd Gde			
1	103	v South Woden 3/3/73	W. Pattinson 56, R. Harden 45
2	109	v Queanbeyan 18/2/78	D. Munt 44, S. Marshall 51
3	109	v Easts 15/12/79	G. Garrity 53, P. Reed 47
4	119	v Norths 10/3/79	G. Garrity 58, D. Garrity 55
5*	141	v Easts 13/3/77	V. Cristofani 93, R. Samarcq 44
6	118	v South Woden 8/3/80	G. Gelding 67, T. Driscoll 48
7	55	v Queanbeyan 26/10/74	H. Weir 33, R. Allan 16
8	72	v Queanbeyan 15/1/79	K. Balkin 36, D. Falconer 34x
9	62	v City 9/1/70	D. Driscoll 40, J. Evans 22
10	37	v City 27/1/73	S. Evans 34, R. Miller 16
3rd Gde			
I	92	v City 4/11/78	E. Delaney 54x, A. Grigg 34x
2	90	v Woden 13/3/76	M. Gray 52, I. McLennan 29
3	80	v Queanbeyan 3/12/77	G. Croker 37, D. Kelaher 42
4	83	v City 17/1/76	P. Bonnett 40, R. Winter 35
5	73	v Woden 15/1/70	M. Duke 54, M. Stark 19
6*	135	v Norths 23/11/74	P. Hagan 95, P. Bonnett 35
7	84	v Queanbeyan 24/2/79	A. O'Connor 65, S. Bryant 19
8	39	v Woden 14/1/78	M. Chambers 21, B. Anderson 12
9	(57	v ANU 17/12/77	D. Garrity 29, S. Heggen 28
	(57	v Wođen 3/11/79	P. Reed 36, C. Selman 21
10* (eq)	52	v City 23/3/75	G. Beacroft 52, P. Crick 0
4th Gde		yed 1975/76, 1976/77, 1977/7	
1	88	v Easts 31/3/74	M. Manson 39, K. Foxcroft 28
2	90	v South Woden 9/2/72	D. Hughes 21, K. Foxcroft 59
3	84	v South Woden 7/10/78	P. Bonnett 47, G. Wilson 30
4	66	v Queanbeyan 16/12/72	M. Manson 41, N. Lattimore 35
5	76	v South Woden 1/3/80	B. Peacock 60, T. Hutchison 15
6	114	v Weston Creek 16/2/80	Glen Fisher 56, B. Peacock 55
7*	143	v ANU 18/11/78	D. Lindenmayer 88, D. Ayre 49
8	60	v South Woden 6/10/73	B. Stonebridge 31, K. Hill 29
9	70	v ANU 11/1/75	D. Lindenmayer 43, A. Grigg 20
10	47	v South Woden 6/10/73	L. Collier 27, B. Stonebridge 20

^{*} Denotes Club Record

LEADING RUN SCORERS FOR THE CLUB (MINIMUM 1000)

s.	Smith	3218	P	Bonnett	1452	I.	McLennan	1295
R .	Winter	2114	G .	Garrity	1449	C .	Rowe	1294
G .	Beauchamp	1730	D .	Kelaher	1432	G .	Croker	1292
G .	Beacroft	1687	$B_{\:ullet}$	Lloyd	1429	R.	Rogers	1287
I.	Canney	1642	G .	Quigg	1425	B .	Andrews	1231
G .	Gelding	1618	Α.	Irvine	1402	W.	Pattinson	1208
A .	Grigg	1610	s.	<i>Marshall</i>	1375	B .	Willett	1084
D .	Osborne	1609	R .	Allan	1297			

LEADING WICKET TAKERS (MINIMUM 100)

R. Neal	297	G. Gelding	164	K. Balkin	118
D. Moore	239	G. Garrity	146	G. Quigg	117
B. Dockrill	207	G. Beauchamp	144	W. Peppinck	105
L. Howe	180	I. Hamilton	141	R. Chibnall	101
I. Canney	179	H. Lipscombe	141	D. Kiernan	101
R. Winter	177	M. Hall	130	P. Mitchell	101
A. MacDonald	176	B. Coe	127	M. Hromow	100
R. Allan	175				

MOST CATCHES (AND STUMPINGS) (MINIMUM 30)

*A.	Casey	108	(8)	s.	Smith	53		R .	Allan	36	
*C.	Rowe	97	(16)	G .	Garrity	51		R .	Rogers	3 <i>3</i>	
*B.	Willett	78	(12)	D .	Kelaher	46		D .	Osborne	32	
R .	Winter	76		*G.	Blundell	42	(10)	G .	Croker	32	
*A .	Grigg	73	(13)	I.	Canney	42		P .	Bonnett	32	
∗W.	Pattinson	62	(4)	B .	Lloyd	39		G .	Beacroft	30	
G .	Gelding	57		R .	Neal	38		*D.	Driscoll	19	(19)
* m	Driecoll	55	(22)								

^{*} Denotes Wicket-Keeper

MOST MATCHES (MINIMUM 70)

G .	Beauchamp	138	A .	Grigg	80	\mathcal{B} .	Lloyd	73
G .	Gelding	120	R .	Allan	78	P .	Bonnett	71
s.	Smith	114	R_{ullet}	Neal	76	I .	Canney	70
R .	Winter	105	G .	Garrity	7 <i>5</i>	D .	Kelaher	70
D .	Osborne	86	s.	<i>Marshall</i>	74	B .	Willett	70
Α.	Casey	81	G.	Beacroft	73			

CLUB MEMBERSHIP - 1980/81

Adams, J.	Francis, J .	Murray, P.
Andrews, B.	Garrity, D.	O'Connor, A.
Ayre, S.	Garrity, G.	O'Neill, D.
Beacroft, G.	Gelding, G.	Peacock, B.
Beauchamp, G.	Goynich, M.	Peacock, R.
Bice, J.	Grigg, A.	Peacock, S.
Blackshaw, W.	Hewat, J.	Reardon, C.
Boardman, W.	Houston, M.	Reed, D.
Bonnett, P.	Hromow, M.	Reed, J.
Bradley, P.	Hurst, A.	Reed, P.
Bradley, R.	Hutchison, T.	Rogers, R.
Brazell, K.	Irvine, A.	Scott, R.
Bryant, S.	Karey, B.	Selman, C.
Bush, W.	Khan, T.	Sinderberry, M.
Casey, A.	King, D.	Smith, M.
Campbell, T.	King, P.	Smith, S.
Chibnall, R.	Lalor, S.	Treloar, M.
Coe, B.	Leriche, M.	Wentworth, P.
Croker, G.	MacDonald, A.	Weston, A.
Dowling, P.	MacLeod, I.	White, I.
Doyle, J.	Marshall, S.	Wilson, M.
Driscoll, T.	Mitchell, P.	Woodward, I.
Fisher, G.	Morgan, C.	

HISTORY OF WESTERN DISTRICT CRICKET CLUB

A.C.T.C.A. GRADE COMPETITIONS

Season	Club C'ship	lst Grade	2nd Grade	3rd Grade	4th Grade	5th Grade	Sub-Di A	strict B
		_	_					
1969-70	7	5	6	5	6	-		-
1970-71	6	8	6	- 5	7	_	••	-
1971-72	7	8	2	5	10	_		_
1972-73	5	5	8	2	7	1	-	_
1973-74	$\dot{4}$	5	5	1	2	2	-	
1974-75	5	3	4	2	5	4	_	
1975-76	1	1	2	3	-	_	4	4
1976-77	3	1	3	4		-	9	_
1977-78	2	4	1	2	_	_	6	_
1978-79	.1	1	2	3	4	_	_	_
1979-80	3	4	3	9	5	-		_

PAST OFFICE BEARERS

Season	Patron	President	Secretary	Treasurer
1969-70	-	P. Rudge	E. Wheeler	M. Stark
1970-71	-	M. Stark	E. Wheeler	W. Reed
1971-72	M. Stark	(L. Buckle (G. Blundell	I.G. Canney	M. Quinane
1972-73	-	G. Blundell	G.W. Gelding	W. Pattinson
1973-74	Hon F. Stewart, MP	G. Blundell	G.W. Gelding	W. Pattinson
1974-75	Hon F. Stewart, MP	S.E. Smith	A.J. Casey	B.G. Dockrill
1975-76	K. Fry, MP	G.W. Gelding	A.J. Casey	B.G. Dockrill
1976-77	K. Fry, MP	G.W. Gelding	A.J. Casey	B.G. Dockrill
1977-78	K. Fry, MP	G.W. Gelding	D.P. Munt	G.P. Garrity
1978-79	K. Fry, MP	G.W. Gelding	P.D. Murray	G.P. Garrity
1979-80	K. Fry, MP	G.W. Gelding	P.D. Murray	G.P. Garritu

CLUB CHAMPION

1976/77	С.	Rowe
1977/78	G .	Garrity
1978/79	R.	Winter
1979/80	В.	Peacock